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. Use the Laplace transform method to solve the given initial-value
problem, y is a function of t

Y'+y=sint, y(0)=1, Y'(0)=~1 (20%)

. Use Gaussian elimination or Gauss-Gordan elimination to solve the
given system of equations,
X +2x,-x; =0
2% +x, +2x, =9
L 3 (20%)

X, —x,+x, =3

. Solve the given non-homogeneous differential equation, y is a
function of x '

Y44y —2y=2x*-3x+6 (15%)
9 1 1

. Find the eigenvalues and eigenvectors of 4=l 9 1 (15%)
1 1 9

. Find the general solutions of the given system of first-order ordinary
differential equations, X is a function of't,

1 ~1 2]
X'=[-1 1 olx, (15%)
' -1 0 1

6. Use the power series method to find the general solution of the

ordinary differential equation y”-(l+x)y =0,y is a funtion of x.

(15%)




